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J. ~~ cAhi~ ~ ~l? 

(A) 21 ~ 

(8) 21 ~ 

(C) 23 C?JT.~ 

(D) 22 N:rJl 'iE'I 

'wn: ti f."t t1 fcfl ,.~::nufhs1 rrr ~? 
(A) 21 "lTTi't 
(B) 21 ~ 

(C) 23 fl'<'-t..q{ 
(D) 22 f.s?lkl< 

2. A~ c-,o~ ~ID~ B-<!l~ ~IE~ 
A-<.!l~~l~C. D~~ ~~I~ B-i!f~'1't'!" 
E-..!:~~~? 

J,A) ~~ 
(B) ~ 

(C) ~ 

,d~) ~ 

( 3) 

A ~ C cJil ~I D '1m B cm "dm1 
E ~ A qft ~l~C. Dcfil~ ~I~~ 
B,E<fit~~"0? 

(A)~ 

(B) ~ 
(C) cfilq,J 

(D)~ 

3. ~ ~ 4ooro qi:.ja=jl(.c-\1_ ~ ~. ~~ 
l!•~SJ.C7il 320ffl qii:i:ilt011_ ~~I~ Xfl!l<f'?ll ~ 
$~? 

)<A) 20% 

(B) 15% 

(C) 30% 

(D) 25% 

~~4oocl'G!~~GJtPffma,f.:{ 
~320cRJ~~~~I~~ 
•C%)t1N~? 

(A) 20% 

(B) 15% 

(C) 30% 

(D) 25% 

RBICN(FJ/2019 

4. <!111 ~r~ ~ \?il?f".rrarrn <!l<f.<l'i 'if.l? 
(A) ?fl~ 

)B) r.<fl"'lN::•I 

( C) rn"'t.t 
(D)~ 

11:B am q.s;frlq1 a1qq1;11 ~ gh!41 ~? 
(A) 4 Hi'-f.fl 

(8) ~'R 

(C) ~ 

(D) ~ 

S. Who wrote 'The Round of Lhe Baskcrvi lies•? 

(A) John Keals 

(B) Arthur Conan Doyle 

(C) Anna Swell 

(D) 0. Henry 

6. '1J(l 'lt~/Jl~Pt.-i~ 13 ~<I~ M~ 3 ~ ~ 
'lt~~? 

)A) 8 

(B) 11 

(C) 6 

(D) 7 

~ ¥ ~ -ikl<ihl <li'll&t 13 ~ 31A 3RR 
3 ~lwi),t.{{<fffif~?, 

(A) 8 

(B) 11 

(C) 6 

(D) 7 

7. ~~~~~wilu? 
(A) 6~ 

(B) 8"11S 
~) IO W,C>t'4?l 
(D) 6 '!ill'>P1i 
~ llT-fq(fqcm wm ~ ~1 41,{.i§? 

(A) 6tll,iff 
(B) 8th~ 
(C) 10th fa?!kf< 
(D) 6th3flmf 



r 
RB/CN(F)/2019 

8. Which one of the following words is 
correctly spell? 

(A) Qu 

(B) Quey 
(C) Queue 

(D) Que 

9. \:ililt\t~ <1..G~lrl ~ ~~ ~ CC:Sf 

(A) ~ Pl~ '>J.~'11 
JB) ™'?A mom 
(C) <51m9' ~ 

(D) "!TI m-mttffil 
\ffioq,1cffitTRRQ;otlJi~~r.fils-{7 

(A) ~ms~ 
( B) fclN::f Vcra 

(C) ~WI 

(D) ~~ 

10. Fill in the blank with appropriate word or 
preposition. 

Rahul is addicted _ __ gambling. 
(A) to 

(B) with 

(C) of 

(D) on 

@ sin2A+cos2:\ = ? 
(A) 3 

(B) 4 

JR,) I 
(D} 2 

U. Out of lhc alternative suggested, select the 
one which best expresses the sentence in indirect 
speech. 

He asked me, "\Vhat arc you doing?" 

(A) He asked about my activities. 

(B) He asked me whai I am doing. 

_AC) He a5ked me what r was doing. 
(D) He asked me what I did. 

(4) 

14• Choose the correct proverb. 
(A) Better fate comes never. 
(8) Better late than ever. 
{C) Dencr late then never. 
(D) Better late than never. 

1s. '<!cum s4 ~ ~'if ~<l'im ~ 210 ~ ~ 
~ 1511\3;:g,11 ~ 30 C>tl<t\C~ I ~ ON} <lli5 f 

(A) 150fflum 1" ~~d"''° 
(B) 100 ~'vrn ··~ 5tl 
(C) 200~ j ~\~ 

JD} 180~ _r(«lv 
~ ~ <fl•il~fl 54 km/hour q,1 1lfuin 

270 ~ ~ ~ 30 sec lfT "tITT TR ~ 'R ~ 
l.C""i'11¥1<fll ~ ffl ~? 

(A} 150 ~ 

(B) JOO~ 

(C) 200fi:f"ct 

{D) 180 fi:fct 

16. Out of the alternative suggested. select the 
one which best expresses the sentence in indirect 
speech. 

The girl said, "I am very busy now" 
(A) The girl told she is busy then. 

j,B) The girl said that she was very busy 
then. 

{C) The girl said that she is very busy now, 
(D) The girl is busy now. 



17, ~.i ~~'4trr;i ">ltt•nlf-1 ~ (.151UJ~ 
~ 21 ~'.!1 l~I~ 18 ~ ~ ?(~? 

(r\l 59 ~.t 

(ll) 58 w.i 

j,C) 61 ~ 
(D) (,O~ 

"'f"I ~ ·mf.r.1; lml•r.t 3Wm \fl"2 ~ 3lf¼;m 
21wi~ 18~~~? 

(A) 59 th 

(B) 58 th 
(C) 61 SI 

(D) 60 lh 

JR. Which word means same as ''sophisticated"? 
(A) Funky 
(8) Brusque 
(C) Gentle 
(D) Genteel 

19. UNICEF-..c~ ~~ C<ISl~? 
(A) ~ 

)H) ~~ 
(C) 1il<:5T 

(D) ~?J31 
UNICEF <iil ~,sqqlc'.( ~ lJ? 
(A) Uflfm 
(B)m~ 
(C) rllcfi1 
(D) fi.t )$· I '.{< 

20. P, Q~ C~ C«ii W~ R-<-~ (.~ a=f'<ll 
S, P--..~ C~ Qi7;G ~ R-dl!! ~ iii "411.!.'<I~ U. Q-dl~ 
~ c<fr.t m P-dl~ ~~~I~ ~ef c<ia,? 

(A) Q • ' o\Jl~ ~ )1/ 
(B) p V' 
(C) S 

)D)R 
P, Q 'Rl~em: R 'RI ~"0, S, P 'RI 

~ 1J m: R 'RI ~r~i'r~ 3!R u. Q 'RI ~ 1J m: 
P 'RI am "01 'f!ml 'lll <iil ll<l"RT ~ ~? 

(A) Q 
(B) p 
(C) S 
(D) R .we,. 

(5) JUJICN(F)/2019 

21. Choose the correct proverb. 
(A) Emr1y vessels mnke most noise. 
(B) Empty vessels make no noise. 
(C) Empty vessels take nut noise. 
(D) Empty vessels make mus! noise. 

22. ffl Qf.t.l~ 1?>f.'lJ7:f:<I (Qr(<f- ~f'Tt(odd)? 
(A) ASIA . . 
(B) 'AUSTRALIA 
(C) AFRICA 

~) ALASKA 

~~~~a:r-ilzi(odd)~? 
(A) ASIA 

(D) AUSTRALIA 
(C) AFRICA 
(D) ALASKA 

23. Which word is opposi1e of "rogue"? 
(A) Rascal 
{B) Crooked 
(C) Scrupulous 
(D) Scoundrel 

24. C<w.<!1 >\>1~<2111. ~~ <ll'lliu ~ C<llt<f 30" 

~. ~ f.<f.i<® <f-1? [> \ 'f'o 
(A) 120" . 1./4 

'(B-) 135° ~ 
(C) 100° 
(D) 110" 

<IR ~ lit! ~ (equal angle) isosceles 
triangle 30° '1-fQ. ~'RT wil qiJlJ! (angle) cfifu ~? 

(A) J 20" 
(8) 135° 
(C) 100" 
(D) llO" 

25. '1~ M ~<311@' ~ C<f>R ~ 
~f 

(A) II tt CQfr](II 12 61 
(B) 11 ~~ l'Cr 
(C) 1261 C~ 3 C6 
ffi) 12 "l C~ I 'i,1 

~·-mu~· 'lf<:T WI tll-ftj'l'il(F? 
(A) Ii iil-il~fol 12 ~ ..l 1-l 1•1 1 
(B) JI ,4Ji~f© I ~ I l 'J ,_1, ~ • 

(C) 12 i:4J1~ns1 3 ~ u • • 

(D) 1'.l <1.il~f@ 1 ~ 

[Please Turn Over] 
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26. A ·e B--;1?~ ~rm ~91~ 3 : 4 1 ~ 'Q~ 

~~2 : 3 I ~t<ll 2001'T<1>1 "l~TI~. A'<: 8-.!l~ 

(6) 

'5tffi ~? l 
7'J . -'Z.~ -I/ 

)A) 6(l0, RO<l 3'\. t -1 -
--- ' (B) 500. 700 

(C) 900. 1200 

(0) 300. 400 

A'{ B Cfi) ~11ii:;Hiih'I lincom 

3: 4 ~I fa1\i;;~,ih'J ~ a:r:rmt 2: 3 'gJ~ A'{ B 
Sl~<tiefl Ks. 200 1TTP,i<«PTT. 31\(;~cffi ~<lifuu? 

(A) 600,800 
(B) 500,700 

{C) 900. 1200 

(D) 300. 400 

27. ~~ ?ll~l•£!i11l ~ ..n~ W../Jt-5 
(A) ~P!t{!•,Rlf 

(13) 91"ftQ,,fu 
(C) ~'11M>tJIK11 

JB) 'i11'1~~1j 

>ilf1c(I~ {1111"(,MI (%"111 f<l&.11<1 

(A) H-ll•Hiclt; 

(B) 1:ft;T~ fq~Hlc(t; 

(C) Sllllilf<1~Hfc(t; 

(D) •lfolctfqt; 

28. ..n<11ro f8R,m~1r.mr ~ ;;i~~ vi~ .!lq~ ~ 
,,~~ fum 9iWI ~ I ~ ~~ ~~~ JOO 1!1<1~ 

'9ftm 'li~~'JT 290 I~ <!>~~Ff lmil ~ ~? 

/'-A) 55 ~ , 2. ?lJ 
(B) 45 ')(.... --t1Ll"° .... 7 ~ )..'10 

)..- r1\ .,, A.\, ~ ( 
(C) 75 1'' V •1 

(D) 65 '?--'l\. t f 9-~ 1 \')"S 

i!µl fof~<liEl{tll ~ f ti55~ 3lR ~~ 
~ I "lift: 'ITT ~ cl3ifii~I m?m 100 3#1 <g~i6Mi 
~ 290 ~ I~ fi-.lf-$<11El{"li <fiR.cii!f ~ ~ ~~ 

(A) 55 

(B) 45 

(C) 75 

(D) 65 

29. ~ ~ W Currency, Rupee ~~ 

Dollar-<!!~ ~t!J ~ ~9M ~? 

0 (8)0 
(C) (]o 
(D) Q 
ffl ~cfil ~'";j· ~ Currency, Rupee s:11f.{ 

Dollar <fi1 ~ch ~ iJ-0? 

30. Which one of the following words is 
correctly spelt? 

(A) Assa~ination 

(B) Asncination 

(C) Assatination 

(D) Assassination f~F•~'§ 



... 
(7) 

31, 16lt~ ~cnPl201~'1U:ltl.!l~~ 
oroi~l1fl~~'i1'¥<1W12W~'lirnl~ 

~ <lWi <f.1."!i f , "J\~ \ V 

(A) 52~ ,..,-1-1.0 , ~~~'y 
(B) 54,ref v ~,-1,,-1'-;~v 
(C) 14 ~ ~f ,{" \ { "' 

(D) 37~ 

16 ~ 4>2l~(fu:N ~ (Average) o1TT 20 qt{ 
iJI~ 1 ~~~'laf \flli31R3.ftt;{<'(cffi 1llt 
¢ (Average)~ 2 ~ ~ \flli \R ~ ~ 
'3lflq;ram? 

(A) 52 qq 
(B) 54 <llf 
(C) 14 <iT.f 
(D) 37clli 

32, 'i'i!fRi Bushfire Crisis~~~? 
(A) Denmark 
(B) ladfa 
(C) Afghanistan 
(D) Australia 

\Tm~~ Bushfire Crisis tR,T ~"G? 
(A) Denmark 
(B) India 
(C) Afghanistan 
(D) Australia 

33. Which one of the following words is 
correctly spelt? 

(A) Renovation 

(B) Reinnovasion 
(C) Rinovation 
(D) Renovetion 

34. ~ ~~ ~ l:il '1Hl<lli~ ~? 
)A) Ce!iiil•11>t<t> 

(B) ~ 9jfaP't 'l.'Pirn 
(C) ~~ 

(D)~~ 

f..i&11,i1 ~ ~ 31IC::lcfil< Cfil s'{7 
(A)~~ 
(B) filffi1 Wffii ~tna.rcfi 
(C) <t.Ji1%:1 

{D) tJ&:l'l•-:fl . /• , : ' 

(A) 495 
(8) 372 
(C) 604 
{D) 591 

36. ~ r.,ir,'rn ~~Ji 20 I 9 ~ • ~ 
~ ~ ?jf,J? 

(A) 'ifWI 
(B) WT 
(C) ~ 

)l')~OMm 
~ ~ '!.l•~H'l--itil.'11{ 2019 Cfil WT~ 

~~ffl? 
(A)~ 
(B) "'1G 
(C) ~ 
(D) W!affl 

(.'JM<f-i:1 <fii3? 

(A) 2✓3 
(B) ✓3 

(C) 6 
(D) 5 
~ equilateral triangle cfil~ /6 'tll.~ 

triangle Cfil ~ q;fu ~? 
(A) 2✓3 
(B) ✓3 
(C} 6 

(D) 5 

[Please Turn Over] 
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38. Fill in lhc bhmk with upprorrintc word or 
preposition. 

Ostrich prefer running ___ nying. 

(A) for 

(B) :itninst 
(~ to 

(D) of 

(A) 44·5 

(B) 45 

(C) 82 
89 

(D) 44 

40. ~ ~tJ."1\1 :<.:IRl~t-~1 C<!i? 

(A) ~~"ffa-t 

(B) ~91ffl 

j,C) C'l'fl<'fto'I 

(D) ~911;:;; 

'llffi ~ 1l'@'SJ q,flefl ~ ~? 
(A) llft\411:i 

(B) ~ 

(C) ~ 
(D) ~cl4i,;-i 

41. ~~tf<f. ~ ~ ~? 

( 8) 

( ]/ 1 
EBC. TFG. OJK.? '7., <, 'I. J)?-
(A) MTC ~ 

(B) UMN /' ) i 
(C) DPQ l 'l---\ \ 0-0 
(D) PSX 'h 
~~'11:%1"fl!IRltl°%s-=-iJ? ) 

/ 5"t) r> 
EBC, IFG.OJK,? .t-'7~:>f~~.i- aj1'-
(A) MTC f;., ~ t: 

1 
.>- .• I -.,--

(B) UMN 
(C) D?Q \f 
(D) PSX 

• 

42. 20 ~ "i_l! '6 ~ ~r.'1 I 0% ~ ~I 
~ti! ui, f.r<.lt'l 4 ·.!i ~rn ~ t7-l"irv>I ~ "ll!t~ 
~ 25%? 

(A) 4~~ 
(B) 2 ~R1 

(C) 8 f.wrn 
(D) 6 F-f'J@ 
~ 20I trs 'lRT,~lffl,1 fi::r ~ I 0% mi '0 \f.i 

cfiIB ft:m: 'lRT ~ ~ fi::r~ ~ percentage 

25%~? 
(A) 4 ltrs 

(B) 2 hrs 

(C) 8 hrs 

(D) 6 hrs 

43. cii'1f>t•ll1)il ~'itftt ~ i:IICi!:Jli:1 ~~? 
(A)~~ 
(B) -TI'iffc'I.ITTS 

(C) ~~ 
,.,fD) Ol 'i.l i"'hl 

'liffH<l4 -.r-ral'3~~\9? 
(A}~ 

(B) =tl•iiflllO:S 

(C) ~ 
(D) tltlil.11<1 

44. ~ 12% ~ ~~~ ~ ,.!l~ 

~ ~'1-?:1ifu~•r m1 1,5: !> 

(A)7~6~ ;(.~ 
(B) 6~9~ ---r-__ 
(C) 8 ~ 6"liPI ~ 

.,,(-0) 8 ~ 4 11P1 
12% simple interest qi) fott1441 ~ ~ 

8f1~fr-'i:l"""o ~ cfifu cfCf4T ~ (double) ~7 

(A) 7 'qtf 6 '4m 

(B) 6 'qtf 9 '4m 

(C) 8 qq 6 -rim 

(D) 8 'qtf 4 '4m 



4'- Choo h mre t pr · • rb. 
(A) Barki11g dog!\ .s ldcm bite.
B) Bnrki11g dogs always bhc.

{C l11rking dog� il\\i..t.a cry.
(DJ Harking dog bil t ighl.

47, C,il��[Megasthcnes)lff�' (lndiCl.l)
�C�;� �� lirn? 

(A 

(B) 

)C) � 
(D) 
immft:1Rifift (Megaslhcne )� �

(lndica) � !«\cfit.:J � � u.:i,c1u'1 fcrcrorr
�·'B? 

(A 
(B) 
(C) tjrq
(D) �

48. Which is the correct on for 'an afternoon
nap"''?

(A) D ze
(B) Catn p
(C) lumber
(D) ie ta

:5 I. Choose th correct prov rb. 
(A) A , tit ·11 in time sav - nine.
(B) A Iii! 'h in time save-- fine.
{C), A :Leh�: �c �v1;; Ii e_

3 (D) A Slit h m lime snve. ten. } '\ � 

.. - ,,_�-";f 1(�l. � ':i1 . ·(:if-R ? 
(A) � --:Ylbli-0 ,, b '; <, 
(B)�l��� � 
(C) ,1&fR;t Of<R.Ji•t � 
(D) . I� 

fimfi Rlffi'if;l � � ��?
(A)��
(B ifl'elTilll.
(C)��
(D) ��

' I I .• 
. . 

[Please Tum Ov r) 

l
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SJ. C<1SR ~t'tln ~ ~ 40% fuln'iJ ~<W'l 
m1~fiJrc'f :lOO ~ y 

,)~\) 500 
(B) 400 
(C) 200 
(0) 600 

~ ~ =, '4{•U2 40% ~fu "lftvrri:I 300 'W.., 
~1"1iRcf;fits-f~? 

(A) 500 
(B) 400 
(C) 200 
(D) 600 

54. Choose the correct provcrh. 
(A) Eno.ls well is nll. 
(B) All's well Lhat cndi: well. 
(C) ·n1e end is well. 
(D) All is well that end in a well. 

56. M. <!1';1. i~ ~ ~ fu'I? 
.)'A) 1!f",fl<l~I~ ~ 

(B) 'i'~q 
(C) ~~ <r.foirlt'l'll 
(D) •fflbi,11~ ~ 

. ~ov;=ro ~ ~ -ai..C.fc@-~ ..... , ~ "il1' f wn? 
(A) <H-ll<lE;l<I ~ 
(B) i~<ITTi! 
(C) t,i:r,'r1- i:filt1•il 
(D) ~li:fl~-il\<I ~ 

_ _ _ _[ _____________ _ 

. of the following words 4 
57, \Vl11ch one 

correctly spdt'! y\) hilicpcntlcncc 
( D) I ndcpendancc 
(C) lndipandcnce 
(D) Jndcpendcnsc 

58. ffl "PIT l?,il,1 ij7fll t;m"i'l <P.lf ~ ? 
jA) (Jl7."ii ','f ~ • ~~<P.! 

lB) <?:IC~ . ~ 

(C) ~-~~ 
(D) Cl!--¥1/l 
-@.! ~ ~ Wfli ~ m? 
(A) fjQ.k~(~ 

tB) ~--;ft'lftGf{ 

(C) ~-~ 
(D) ~-~ 

60. Fill in the blank with appropriate wo:rd or 
preposition. 

We shall discuss the matter ___ a· 
cup of tea. 

(A) on 
....,(B) before 
(C) with 
(D) over ~ 



.....--

( I I ) 

61, u[<ll!i; f.;f~ ~ '2 5 6'-.m, 1?11{ ·y 
, '( ' 7'- n71~,f•\V · OU arc 

e,icid. 1 
- ---. ~ • "l · c nre ll:tll '..ii.;~ ''.\ 5 R'·o!!~ 

?Ii ·o(lfl(l and lild • i"!r!(.'@1 'anti·~~~~ V.«i 
7 (A) 5 

~) 8 
(C) 2 

(D) 3 

~ m -~ ·2 5 6' 7.fi1 31tf 'You are 
gooJ'. '6 3 T'ifil 3let ·we are had' 3'1f:1 ·3 5 8' cJil 
31~ 'G\,od nnd had'~ '.mt.I' qi) ~'t.~? 

(A) 5 ~_sk 
(B) 8 / o\l '0-.'<'L ~ .... J. t 
(C) 2 1--5"' 'l c-~L ~c\. ~ 
(D) 3 ✓ \,S1'-' i ~/ 

c, ft✓ 'b bP:: 
62. Fill in the blnnk ,;i1~ tij,prl1priatc word or 

preposition. 
ll1e 1111111 wns nee used _ _ _ theft. 
(A) by 
(B) about 
(C) of 
(D) for 

63. ~~ ~ltl@ro ~ffl <f.f.l. "'ili6"ll'<fc,rn C~ 
~~"ll ? 

(A) ~o'19f~~~ 
Alf) t.<-ISM~.HI 

(C) ~ 
(D) '1.aJfc-i !ll 
fcnmm 91l5lfq<Wfllw:R~~i~ 

fo\R-ll~I ~ i;i?" 
(A) ~k141~1¥1 
(B) 'filf<li.11< 
(C) 1l'[w.l 

(D) ~ •ft'l<ll 

6-l. 1!W ' +'-.!l<l ~~ '-', '-'-,!HI ~'1" 'x', 
'+'-<!I~ \51~ '+' l.!l<I~ ;x'--!!il' ~..r '+' ~. ~ 
10x5 + 3-2+ 3 =? 

(A) 16 
(B) 5 
(C) 21 
(D) 18 
~ •+• <F.I -:1-l~ •-•.,_,qi) a:!~ 'x', '+' qi) 3l't 

'+' 3ffi 'x' efil 31't '+', '4'Q; IQ X 5 + 3 - 2 + 3 =? 

(A) l6 'l. t) 
~) 5 )-3-

(C) 2 1 \ Ol<.j · ·
1 

.... 3 
(D) 18 --\') '(,._ ' 

).- $ 
\O • ~b .... 3 

,__-r 
1/'s 

RBICN(F)/2019 

'fi ) '6 l!:Tl~~-:: 65. CiWI ~ (Canal) !f•I~ (Paci ic 
~~?.IC<- )l-1j'Gi ~? 

.(A) 9 fli'lr•i1 ~ 
(R) >;.1!1~ '(fa, 

(C) ~~ 'il1~fl1 , fto'I 
(D) JlJM~ ,~ 
'.Pl~ (Cufnl)_~ 4fit1i'i< (Pacific),: 

;,i,:c:-tif-.!i:h 11t,lfil1ikU~ ~~ ~? 
(AJ~W: 
(B)~~ 
(CJ ~m~ 
(0) ~~ 

66. 11ft '.'5 +48 = 40, 23 + 34 = 24. 25 + 24 =26 
~.\!JT~ 14+21=1 -

(A) 18 -
tB) 20 
(C) 15 
(D) 16 
lifu 35 + 48 = 40, 23 + 34 = 24 3lf.l 

25 + 24 = 26. \lll 14 + 21 = ? ffl FJ? ~ \ V 
(A) 18 ~ 
(B} 20 1 1,..') r:'r~ 
<C> 1s ,~ ✓v 
(D) 16 /:fk 

67. ISR0-11 mrtl1Y(r,f;:j Clfi? 

ft) ff..mr-i 
(BJ f.m•t f,j~~ 

68. 

(C) 911r(!jfi.,, offi 
(D) ~-C~.1!ffl 

ISRO <fil 1<1(1411 ~ ~? 
(A) if;o fu"!R 
( B) ~ m 
(C)'41~~ 
(D) "tto ~o~ 

s+ J11 + J19+✓29+./49 71:i 
(A) 2 
(B) I 
(C) 6 

f> 3 

{Please Tum Over] 
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69, Whu wwlc 'Th~ Stnmge Cn.~c of Dr. Jekyll 
11ml Mr. rlytk"'? 

IA• H,,w;,n.l Pyle 
(II) Murl Tw;,in 
(C) Rnh,:n Louis Stevenson 
(0 ) Mury Shelly 

,o. ~Rw-1 ~~ ~"f!llm ~<1 ~t 
(A) 35<;;, 

~? 

(Ill 40~ 
(C) 45w 
(D) .lU'l-
<t<IIHfo<l4 "'if.=.1 ... ,?f'~.\,,.,2-41 <MIHRt<llt q;n, ~ 

(1\) 35% 
(0) 40% 
(C) 45% 
(0) 30% 

71.~~~<l'i'C<l? 
4, 22-J.--:t>, ? I 
(J\) 7 I ._, 

,)B) 0 
(C) I I 
(D) 9 
m=i fil""t:' ~ "f'<IT'f'l1 ~ ~? 
4, 1. 5. I, 6, '/ 
(A) 7 
(B) 0 
(C) ll 
(D} 9 

72. Out of the altcm;1tive suggested, select the 
one which best expresses the sentence in indirect 
speech. 

Viral said. '·Ravi arrived on Monday" 
(A) Vira1said1ha1 Raviun ivcson Monday. 

}B) Viral said that Ravi will urrive on 
'•Monday. 

(C) Yi.mt says that Ravi is arriving on 
Monday. :.. 

(D) Virat said tbnt Ravi had arrived on 
Monday; 

74. !!~ ~1omi 'f9(11: <l?.I t~· "-l-J)is:: :i._r.!lllirl t 
(A) "'~>I 

_,,tfl} ~ ~ 
(C) ~ 
(D) fi.'.l <>i~ 

~l!ftl . "Pink Ball Test Cricket' <iitl ©f,:-11{~ 

f~? 
(A)~ 
(0) ~ llTt=! 
(C) ft:ml 
(D) :ft':l,wf, 

75. \Vhich word is opposite of "plenty"? 
(A) Insufficient 
(B) Many 
(C) Abundant 
(D) Huge 

76. 2019~ C'f1I ffl ~ ~ "'1Miil<I• 
~91~~~? 

(A) l.J'<tl 
)B)~ 

(C) ~Ii 

(D) ~-d?t 
2019 ~ ~ ~ oi•ll,:-lilil ~ i' 

""'~(-l=1i:f.=,1=tt1 ¥1 ~ (Cyclone) ~ f(ftll? 

(A) 'tfiUft 
(B) -3,:-lg~ 

(C) ~ 

(0) ft@ffi r. 



p 

77. Which word mcnns same 11s ''refurbish"? 

(A) Deslm)1 

(B) Co1L~Lruc1 

(C) Rc,·amp 

(D) Fnbricalc 

( 13 ) 

78. lilt~~ifu 9fT~7c;,;1'ili.!l<i~~<•C<1ll 
<>11~ !078 <l~ w, oo'f; ~ .w,n~~? 

(A) 20·5 C"lf.: 
(D) 21 ortil 
(C) 16 CJlf-1 
(D) 180ifil 

'ire2 cf2I 1?!1:"iicfill4ll radiiq;f 3Rt{(differcnce) 
7• cm 3WI ~:l'h<."l<fil 3RR I 078 sq. cm '1ft m 
1111:"licfil{ cfil rndius qifu 's-0? 

(A) 20·5 cm 

(B) 21 cm 

(C) .16 cm 

(D) 18cm 

7 

79. Which one of the following words is 
correctly spelt? 

(A) Messege 

~) Message 
(C) Mcsagc 

(D) Ma~age 

80. C<lli-liil (odd) if~-~~I 

ft) 98· 

(B) 72 "' 

(C) 120 

(D) 108 

fcim (odd) ~ RR"<PR I 

(A) 98 

(B) 72 

(C) 120 

(D) 108 

RBICN(FJ/2019 

81. rill in the hlank wilh 11pproprinlc word or 

prcposi1ion. 
David lives ___ 1he bus-stnnd. 

(Al ugainsl 

(B) :1cross 

(C) through 

(D) by 

82. \!illl~ '5!iWnr.-1?o ~w.ro, ~ <f-1? 
ft) iOS 

(B) Android 

(C) Windows 

(D) Linux 

~ (Apple) 3ll$4iH<lil 31q,f4. fuwr~"il? 
(A) iOS 

(B) Android 

(C) Windows 

(D) Linux 

83. ffl;.., ~ . ~1, ~ '1l<l~ ~ ~$ ,nffiC\!i 
~~I ~. fuorc•r.r 9fTC"l ,ljl f ~•1, i11€i_i1 9f1t"T 
,rn I~~ ?f!V'f I ~ ~~ <'\it"f ,rn I 1!Wrn 
~~~~f 

(A) 'i,~. ~. ~ ~. 1iror"f 
(B) ~ ~ . fiic-r-1, 'f.il"I. ~ 
(C) ~. ~ 'iTC~l. RU!"l, ~.ct 

(D) ~ . ~ . ~.1P-f"I, ?l!ei._ 

m.I,~,~.~3lf.!Tf@T~~ 
~ i.fl I TITTi!, f<1ticfil ~~it.! I~. ~ 
~~w-i1~~iWTT~e1m:TfraT 

~ bn ~ w-11 mfr~ a=i1(;~q;) ~ ~ 
-s-u? 

(A) ~. ~. m.1, ~ . ~ 
(B) ~ 1ml, ~. ~ . Tf@T . n , 
(C) lffill, ~ -:mt, K-'M, ~ •, 
(D) 1ml, Tftm, ~ ' ~ . mj 

[Please Turn Over] 
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3....i ~ab= f 84. 'lll?i a + b = 5 .JI~ n - I, = "'" • "' · 
~ ~11f<11 l:f@ <f-1 ~? 85, 

E ') 
BG. AM, D • · 

(,\) 2 

(B) I 

(C) 8 

(1:5) 4 

(A) AJ 

(B) AD 

(C) KN 

~n+h=53Wla-b= 3~ \1ll:, ub=? 

(A) 2 

(D} CF 

mfwlr~~~F&? 
BG, AH. DE,? 

(B) I 

(C) 8 

(D) 4 

I L 

~ .P. 

(A) Al 

(B) AD 

(C) KN 

(D) CF 

1 1 > G + & 3 /b 1/ IL IJ 
~ f' ;=. t _/I- 1-J }(. L M -z ·y ~ w V u T .) P- 3' p . 0 rJ 

ii:. 'L-J 'l11.J. 2.2- '}.\ );o l) lt }~ 1-< \5 11t 

k I 
A I"- b E. 
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